
Numbers in Exponential Notation 

Remember:  

In the expression bn, b is the number called base, n is a natural number called exponent, and 

bn is called the nth power of b. 

The exponent n means b is used n times as a factor to obtain the value of bn 

The product of two or more powers having the same base is equal to the base raised to the 

sum of their exponents. 

The quotient of two powers having the same base is equal to the base raised to the 

difference of their exponents. 

Any nonzero number raised to the zeroth power is equal to 1. 

____________________  

Answer in standard form:                                                       

(7 x 102) + (5 x 101) + (3 x 100) =  

(8 x 107) + (9 x 104) =  

 

Give the value in standard form:  

102 x 52 =  

53 – 82 =  

23 + 23 =  

Express the quotients in exponential and standard forms: 

105 ÷ 103 = ___________________ = ____________________ 

(11 x 115) ÷ 112 = ___________________ = _______________________ 

27  = __________________ = ________________ 

27 

 



 


